oad Coiaser @usasin, Gesmsmear—600 006.
CusiBsmeui) QurgigGaiia (aamh e LMs-2018
senflgin — eflenL &@HliLiser
Qurgis@Hiiyser
1. @55 LHUTH Yo 2 6TeT sfleL ST mATEID LM LLUSSEL LI

Siny UssEsMES oplumLLIES Ostam@dmg. @Fs wHIG
Weonulle @A @eramss sefly  LTHm - pempuiled LO6TOTSUIT EH6TT
shurs Siay sompoietn S5E55 LURELEH eomufled (LW
wHIGUeTIT 6T suiprhisiuL Geustor BiLb.

2. flv ol sEmsE S0 2 6Tem GMlLEemeT &6L16UT(LPL 63T Aedrumm
GsustoT(HILD.

3. HHSTmsT s Smmsdlstr Siaflmer Ffurs ST ([DeieT

LOIT6w0T 61T 85617 UTESsIuLT  BlBIusHETS, ¢, ST sef 60T
Efemer 2 oL & [Hlsmeusei susHTILMI&SSLILL [BsTerer.  67eTGey
i BHeosdt saumrs GQHsEh uiesdn tSHRGsT  FIluTs
1 sTRSLILL g (HUL N, SIS EnHsTer  WHIGLsTT SUGurs)

auprhisluLCair®in.  Glemey  * G L @Mi&siul (Heremer.
Beowsér supts QEHE SEHS GEHMET sfure s B0

Hlsme HQuei( 2°) 245 BT , ESETSHNE 1 wSIGLsmT
upEISILL. CaieTBID.  (SSSIThissT TSTEONSSTES LHUGLsTar

GODSS En L TG

4. 9fey 11, III wpmid IV @60 2 emem aflsmelinemer aflenl 6T (LLaIGILD
gflure GHHSTH CEILTS (P wéliQuetTTEsT  suprhis L Geusto (B,
BHonsaid sam GnsED U’ &&He0 w GG (Stage marks ) Heme
wlCusTT ST Sefldgaurs suLpritg Geaustor (HILD.

Foib wpmih SO swuflare st e el gt WL B LHOH

Qe Geustar(Hlid.
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ifley I

1 eamysmLw el uflsir @O whmih gymer sl s ST

WG 1w HIGustor Qar@&suL Gaustr HLb.

2. ﬂﬂﬂn{. g,gﬁ]ui@ Sjeuegl el g Hunipflsd gCamid QY SUDTE
@i, 9i8mnE 0 iU W GG 6 LrI& Goustor (HLD.

(CODE A)
ey - 1
Q.No | Option Answer
1 (b) {1,-1}
2 (a) 7
3 (a) P(AuB) =P(4) + P(B)
—-T
s | ® 3
2
5 (c) <
X, x<l1
6 (a) {\/E x=1
7 (d) 160, 640
8 (a) (0, 0)
9 (a) x—2loglx+1)+c
10 (a) 24¢,,
-
| © (72
12 (d) %ab sinC
_—1 3 (d) x+2y=3
14 (a) 20 -
B f(x) = cotx; (—2-,;]
15 () 6T6ITD @mLQmsfﬂlﬂ]su
1
:t PR
16 (c) =
17 | @ x+ D2+ @+ D" =1
(b) *
:2 (a) -1<x < 1 .
20 | @ tan”}(e%) + ¢

(CODE B)
(fey - |
Q.No | Option Answer
1 (d) 5 absinC
2 (b) {1,-1}
3 (d) x+2y=3
-n T
4 (c) (—2-:5)
5 () -1<x<1
6 (b) X _
X, X
7 (@) {\/;, x=>1
8 (a) (x+1)2+(y+1)2=1J
f(x) = cotx; i,%
9 © steor @emQausifisy
10 (d) tan 1(e*) + C J
11 (@ | PAUB)= P(A) + P(B)_\
r
12 (€) " -
13 | @ 24cy, J
14 | @ (-,0)
15 (d) 160, 640
2
16 | (© 5
17 (@) x—2log(x+1)+c¢
7
18 (a)
20
19 (@) -
20 (b) 6

AL:.'"’ y
=i



ey — Il

100 - b @& s PLoms 5 aflsaflgnd,

10 - b @ss @Lms 5 auflsafigns,

1- 1) @oés GLsms 1 aufllflgns Haopey Geuiusms.
seorGeu Ceemauuimssr QLoms S eTent Seifswor sTeRTETNE e

=1x5%x5x1=25

Q.NO CONTENT MARKS
21 1 0 2 -1 0 -2
—[—153=1—5-3 2
2 -1 1 -2 1 -1
0o | Gmymu eusnuLLD:
A
é b
1
YN
a
ToProve @+b+&=0 :
Note: The direction of &, b, ¢ may differ
03, | 1000 - 1b Qevss @Lgemg 1 anflullgus,

R i

fxe"‘ dx =—xe *—e*+C

24.
8

t7 t 7 1

o5, | x 98t 15g Cpemauumenr yerrsM (x4, 0) 1607 &
(x1—7)2+36=(x1—3)2+16 1
sreoTG6u GemeImeaT yemerfl = (1?5, 0) 1
26. | Qeu (ud ysrefl (—1,—1) | 1
ereoTGsu G EmaLImeaT suwesiur® 5x + 3y + 8 = 0 or any other fprm 1
27. u=x, dv =e *dx 1

388-27 +1 Maths TM - 1a




28.

t =sin"1y
il — psin~lx i

VI—m =t
P(A)+P(BY+P(0) 1 1
“ @81 sTSSosva. 1

29.

30.

—Sinx,x <0 (=sinx.x <0 (—sinx,x<0
f(xX)= sin|x| = 0, x=0 or{ or[

sinx,x > 0 sinx,x > 0

' _[—cosx,x<(
f(x)_{cosx,x>0

sinx,x >0

xX=0-—

& f(x) il a0 .

(e - I

80 GHLICL fHow suprs Qs sgmars smiks @S auflesi
sflurs @minfsr Hame WAL 2) 9yEs uflaEns@ 2 fu 1 LHIGUsTensTT
3ES  Hevedgfu LSGILIeoT 6w 166 1515, 5

0fsgs  (stage  mark)
Q&TB6&CaismmHID. Hoes@iu wy wHiGusT 2-9 (PUEDLILTS LYISES6
&n LT
31. 2x+yxy2xxy y x y
2y+z y z|=|2y y z|+|z y z 2
2z+x z xl 12z z x| lx z x
=0 1
Note: This problem can be solved using alternative methods
32. ld] = V5 | 1
1 -
a= N 2-) 1
sTrGeu Caemanumer QeausLi= +V5(2t - J) 1
33 | Comeauwmsr gL wmsmmasSsT sTaTsnias enas )
= 6P, + 6P, + 6P; + 6P, + 6P + 6P
= 1956 1
24 abc +2fgh—af? —bg? — ch® = 0 et Demss 2
6 =90° 1




p* — q* = 4tanfsind

35.
4.[pq = 4/ tan?6 — sin?6 1
~p*—q* =4pq 1
36. | sec? dy 20 e _\_
6 x+y) (1 + dx) + sec’(x — y) (1 dx)_o ;
dy _ _ [seci(x+y)sec’(x-y)]
dx sec (rty)—sec2(x=y) or any other form ’
37. > >
[Vx —4x+6dx=fJ(x_z)2+(\/7) dx 1
(x-2)
B T x + 6 +2log(x = 2+ VAT —4x +6) +C
(or) 2*
any other form
38. logsx = logze logex 2
f logsx dx = logse[x logex — x]+ C 1
Note: Solution can be obtained by taking u=logsx directly
39. | Comeuwner fansse =
- 2
P(4) P(B) P(C) + P(4) P(B) P(C) + P(A) P(B) P(C)
B
30 1
40. ;,,l’l—%lf(x) =4 i

lim f(x) # £(0)
f(x) g x =0 & QM FSUPHS.




Oifey - IV

26 GOUACL Bevw oy

&rﬂn.nw, Q@idsr  (Beney wHOE
m@u@ummm S|b& Hemeusgflu
1 Sioevg) 2 uHiGUET QorEes

DS Qg Sypmens Emihs (LM auflast
usir 2 giieg 3) SiEs alsEréE e ifu
wELCUsTewRsd kel S8 (stage mark)

GoustrBud. Hemevéi@ifu g wHIAUsITEnsINLLD

PUDLWLTS LDISs6H sl rg),

41.a) (b +c)? a? a?

b? (c +a)? b?

c? c? (a+b)?
a,b, c y&usweu Asst smreTRset
(@ + b+ c)? eetug) Aeit smyen
Astr g 6
smeuflseflsir Quséaedsir Lig 5
~upCPT smef = k(a +b+c)

K=2
(b+c)? a2 a?
b>  (c+a)? b2

c? c? (a + b)?

Let A=

= 2abc(a+b +¢)?

41.b) | BTS @ UeireMasmar Liusst LGS &) oot m) Cleus L s emmored

S CeusLeor wom GB\® OusLisdar gmuy Goismewuns
QO

SlemalshlaseMenr LY Sevoread

RC7 S5 S jemindlent merr sTewr 671G

42.a) P(n):7*" + 16n — 1 gyeg 646 suGUELL.
P(1) Guowi eteor flemiss.

P(k) Quoul eTetra.

P(k + 1) Guoui ereor flemiil&a.

= P(n) ststrugy Quowi Yn € N

42.b) 117 = (1 +10)’

(1+10)7 = 7¢,17(10)° + 7¢,18(10)* + -+ + 7¢,1°(10)7

117 = 19487171




Ve +6-VT13= (x3+6)1/3_(x3+3)1/3

(o) oo

=x(1+§%+-~)-x(l+§%+m)

fUL L g6 eaut smmGiumest 1) Ggm(pleleot meor.

1
= = (Cammuons) 2
43.b) 2tan®0 + tan —1 =0 1
tanf =%=> 6=mr+tan'1§, neZ 1+1
b4
tand =—1=>B=n1r—z, nez 1+1
“a) statement:  tan (A B) cnach 1
' 2 )= @€ Ot_
a-b ; C _ 2RsinA — 2RsinB . c ”
a+b " 2" 2RsinA+ ZRsinB ' 2
2cos (A ; B) sin (A = B) C
= A+ B A-B\ 7 1
ZSm( 7l ) Cos ( i )
= cot(50-E) an (A2 coc |
= COt( 2 an 2 co 2
. (A - B)
=tan 2 1
Note: Any other napier formula can also be proved.
44.b) g(f@) = (F(x) + 1)? = 4x® — 12x + 9 1
(f(x) + 1) = (2x — 3)? 1
f)+1=%2x-3) 1
fx)=2x—4 1
f(x)=-2x+2 1
45.3) | sowowd C; = (1,-3), Qymir; = 2 1
eowwn C, = (;,—3), QY 15 = ; 1
3
CiC ==
1l =5 1
3
n-r=3 1




0 X =1+ Tx=27=3

lim
0 2l =1 - [x =g

=lim(l—x)+(2-x)-3

0 2(1-x)~ (2 =x) =
. —2x
= lim— 2
X=0 —x
46.3) | Gamymu eusmu(p -
I%q
— 3
y=2x
X =16 f(x) gyerg) US55 &5 6060. 2
46.b) t = —px% dt = —apx*1idz 2
faﬁxa—le—ﬂxadx =f€t(—dt) 1
=—e'+C 1
=—e P 4¢ 1
47.a) . 2 1
x = 2
4 4
f(a+rAx)=1+;rz—+-n—r 1
: 2% 42 4
fxzdx=1im— (1+L2+—t) 1
n-oon n n
1 r=1
3 26
fl xzdx = ? 2
47.b) 1 _1 _5 _4 5
P(4)) = E'P(AZ) = Z,P(B/AQ = 11,P(B/Az) =3
P(B) = P(A;) P(B/A;) + P(4,) P(B/A,) 1
1 5 1 4
=(0@+66) 1
P(B) = = 1
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